t22_pre_poly (TMNSxiXoR-
jHA7TGIAL2DKTwPXWZDCMg851eC)

October 27, 2020

Let vl_relat_1 : t.=>0 be given. Let v1_funct_1 : 1=0 be given. Let v1_card-3 :
t=>0 be given. Let k10_ztuple 0 : .= be given. Let vl_card-1: t=-0 be given.
Let k9 _xtuple 0 : 1= be given. Let k1_funct_1 : :=1=-1 be given. Assume the
following.

VX0.((vlorelat-1 X0)A(vl_funct-l X0))=(VX1.(X1 =
k10_ztuple-0 X0)=(VX2.(X2 € X1)<(3X3.(X3 € k9_xtuple 0 (1)
XO)A(X2 = kl_funct.1 X0 X3))))

Assume the following.

VX0.((vlorelat-1 X0)A(vl_funct-l X0))=((vl-card-3 X0)& 2)
(VX1.(X1 € k9_xtuple.0 X0)=(vl_card_1 (kl_funct.1 X0 X1))))

Theorem 1

VX0.((vlrelat.1 X0O)A(vl_funct.1 X0))=((vl_card-3 X0)<
(VX1.(X1 € k10_ztuple.0 X0)=(vl_card-1 X1)))



